Photonics letters of Poland, responses to the comments 27th June, 2011:
First of all, we would like to thank reviewers for their valuable work and careful checking of the manuscript. We have considered the comments and improved the text according to the suggestions.  See below our answers in details. Also other changes, made by authors, have been described.
Reviewer B:

Generally, submission fulfill requirement for publication in PLoP in presented form with small corrections:
Comment 1:
1. the usefulness of PBS instead of a dextran-albumin-PBS should be MORE

underlined - please rewrite the last two sentences in the first paragraph at

page 3 in above suggestion,
Answer 1:

The two sentences have been edited as follows:
Filtered PBS is fully transparent for laser light and all microscale impurities have been removed, which is one of the most important criteria for a sample, when measuring elastic light scattering from single particles. A dextran-albumin-PBS solution does not satisfy this requirement, because some substances still scatter light and induce intensity fluctuations in the background signal. 

Comment 2: 

2. the first paragraph below Fig. 4, give information about m decrease by

using P+A+PBS, but I can find in this point which type of mixture PBS or

A+D+PBS has been used, please explain,
Answer 2: Text has been edited as follows:
By measuring the suspension’s total refractive index and relative refractive index (m = np/nt, where np is the refractive index of the particle and nt is the total refractive index of the medium), we can estimate the effect of an additive on light scattering from a single particle. When using a D+A+PBS solution (as described above) instead of PBS, nt increases by 1 % and m decreases by 0.7%. In these calculations, we used the value of 1.40 for the np of red blood cells [30], while the nt of the suspension was measured with optical coherence tomography.
Hopefully the idea of this part is now clear from the text.

Comment 3: 

3. it should be n with subscript [p] for RBS equal 1,40 instead of n - see

description below fig. 4

Answer 3:

np has been corrected
Additional corrections:
-More details have been given to ref. 29:
M. Kinnunen, A. Kauppila, A. Karmenyan, and R. Myllylä, Biomed. Opt. Express 2, 1803 (2011).
-Figure 3 (f) has been corrected.
-Figure 1 has been corrected.
With best regards,

Matti Kinnunen
